



where $C_V = \frac{V}{8PA_0^2}$ where $A_0 = \text{speaker cone area}$
 $V = \text{volume of chamber between speakers}$

Note $\frac{1}{sC_V}$ is a mechanical impedance

$$\begin{bmatrix} V_1 \\ I_1 \end{bmatrix} = \begin{bmatrix} A & B \\ C & D \end{bmatrix} \begin{bmatrix} 1 & 0 \\ sC_V & 1 \end{bmatrix} \frac{1}{\Delta} \begin{bmatrix} D & B \\ C & A \end{bmatrix} \begin{bmatrix} V_2 \\ -I_2 \end{bmatrix} \quad \Delta_T = -1 \text{ (reciprocal)}$$

$$\begin{bmatrix} F_1 \\ U_1 \end{bmatrix} = \begin{bmatrix} A_0 & 0 \\ 0 & 1/A_0 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ sV/8PA_0^2 & 1 \end{bmatrix} \begin{bmatrix} 1/A_0 & 0 \\ 0 & A_0 \end{bmatrix} \begin{bmatrix} F_2 \\ -U_2 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ sV/8PA_0^2 & 1 \end{bmatrix}$$

$$A = zeT_0 \quad B = (zeZ_m + T_0^2)/T_0$$

$$C = 1/T_0 \quad D = Z_m/T_0$$

$$\bar{A} = -DA - sC_V BD - BC$$

$$\Delta_T = -1$$

$$\Delta_T = 1$$

$$\bar{B} = -2BA - sC_V B^2$$

$$\bar{C} = -2DC - sC_V D^2$$

$$\bar{D} = -BC - sC_V BD - DA = \bar{A}$$

Open circuit Transfer function

$$V_1 = \begin{bmatrix} \bar{A} V_2 - \bar{B} I_2 \\ -\bar{C} V_2 + \bar{D} I_2 \end{bmatrix}_{I_2=0} = \bar{A} V_2 \Rightarrow \frac{V_2}{V_1} = \frac{1}{\bar{A}} = \frac{-1}{DA + sC_V BD + BC} = \frac{-T_0^2}{zeZ_m + sC_V(zeZ_m + T_0^2)Z_m + (zeZ_m + T_0^2)}$$

Input Impedance w/ $V_2 = 0$ (short circuit)

$$\left. \frac{V_1}{I_1} \right|_{V_2=0} = \frac{B}{D} = \frac{-2BA - sC_V B^2}{-DA - sC_V BD - BC} = \frac{2BA + sC_V B^2}{DA + sC_V BD + BC} = \frac{2ze(zeZ_m + T_0^2) + sC_V(zeZ_m + T_0^2)^2}{zeZ_m + sC_V(zeZ_m + T_0^2)Z_m + (zeZ_m + T_0^2)}$$

Input Impedance w/ $I_2 = 0$ (open circuit)

$$\left. \frac{V_1}{I_1} \right|_{I_2=0} = \frac{\bar{A}}{\bar{C}} = \frac{-DA - sC_V BD - BC}{-2DC - sC_V D^2} = \frac{DA + sC_V BD + BC}{2DC + sC_V D^2} = \frac{zeZ_m + sC_V(zeZ_m + T_0^2)Z_m + (zeZ_m + T_0^2)}{Z_m + sC_V Z_m^2}$$

Can $\bar{A}, \bar{B}, \bar{C}, \bar{D}$ be simplified at all?

$$\bar{A} = -(DA + sC_V BD + BC) = - \left(\frac{zeZ_m}{T_0^2} + sC_V \frac{(zeZ_m + T_0^2)Z_m}{T_0^2} + \frac{(zeZ_m + T_0^2)}{T_0^2} \right)$$

$$= - \frac{zeZ_m}{T_0^2} (2 + sC_V Z_m) - 1 - sC_V Z_m$$